Z=X:1} FIE (E1E FHASC

REH F45BUSCAT OV IR KK BRERRXE

=154 LoEssERasBkkI—IL  20244E10812~13H

HIBEE  100n FaAE £k
No.94 1#H 1L—>
R
= = RT

24 L 25m 50m |(25m) |(50m)

25m 16.19] 16.19

0.72
50m| 3563 19.44| 3563 0325

75m| 5390 1827 ~01.17 & iz
100m| 1:14.33) 2043] 3870] 216| 0307

AVE| 18.58] 37.17

AR #HE K& OKSS

RE4 F45BUSCAT AV IR FIKIKBRRKRE

=154 LoEssERaABkkI—IL  20244E10812~13H

518 H 100m FikE FIKE&
No94 1% 8L—>
R
= = RT

BAL | 25m 50m [(25m) [(50m)

25m 15.71 15.71

061
50m| 3438 1867 3438 0296

75m| 53.93| 1955 00.88 I iz
100m| 1:1306] 19.13) 3868| -0.42] 0430/

AVE| 18.27] 36.53




